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1121[45 B 1 10 0 10
1141|5848 & 2 10 0 10 5 0 0 0 2916 0 2,592
=) 6 60 0 60 10 0 0 0 1,728 0 1,404
& 8 70 0 70
1201[83% % 90 1,350 0 1,350 15 0 0 0 2,268 0 1,296
& 90 1,350 0 1,350
1203[F ¥Ry [HE 131 1,310 0 1,310 10 0 0 0 0 1,350 0
HE 62 930 0 930 15 0 0 0 0 1,166 0
f=554 20 200 0 200 10 0 0 0 0 1,998 0
ED 213 2,440 0 2,440
1205[IF5NAE Gb 40 160 0 160
1207| B & [&0) 494 69 49 20
1209[B & dbimE 10 50 0 50 5 0 0 0 3,240 0 2,916
& 10 50 0 50
1223|&H EE 160 64 64 0 0.4 0 162 0 0 0 0
[E)) 160 64 64 0
1301 |HF RE 1 5 5 0 5 0 594 0 0 0 0
S 35 70 0 70 2 0 0 0 1,188 0 756
#mE 15 75 0 75 5 0 0 0 2,160 0 1,944
=H 800 240 0 240 0.3 0 0 0 113 0 97
= E 6 30 0 30 5 0 0 0 0 2,376 0
(&) 859 428 5 423
1321 [HK E 45 225 0 225 5 0 0 0 3,564 0 2,268
Eh 87 435 0 435
13B1E—<> [EE 150 23 0 23 0.15 0 0 0 0 108 0
(&) 750 107 0 107
1353| Tk (&) 35 8 0 8
1355|455 ERE 160 16 0 16 0.1 0 0 0 0 92 0
(&) 200 20 0 20
1521[|B%¥ E 5 50 0 50 10 0 0 0 0 3,240 0
(&) 5 50 0 50
1541 | £ & dbifE 250 5,000 0 5,000 20 0 0 0 2,376 0 2,052
(&) 250 5,000 0 5,000
1603|)L)— [REH 1 10 0 10 10 0 0 0 0 3,888 0
(&) 1 10 0 10
1609|70val)  [EF 25 150 0 150 6 0 0 0 5,022 0 3,024
(&) 38 228 0 228
1611[LAR EE 10 100 0 100 10 0 0 0 4,968 0 3,780
(&) 15 125 0 125
16124 =L 2R [EH 5 25 0 25 5 0 0 0 0 3,024 0
(&) 5 25 0 25
1627|3=F<F  [EBEX 60 180 0 180 3 0 0 0 3,672 0 3,564
(&) 90 186 0 186
1705| 4= =4 450 36 0 36 0.08 0 0 0 0 56 0
=0 6 24 0 24 4 0 0 0 0 3,456 0
Gh 456 60 0 60
1803 |4 HEE EE 630 63 0 63 0.1 0 0 0 146 0 119
me 150 15 0 15 0.1 0 0 0 0 120 0
S 450 90 0 90 0.2 0 0 0 239 0 66
Gh 1,230 168 0 168
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1807 |#B f=554 250 25 0 25 0.1 0 0 0 0 41 0
EH 90 14 0 14 0.15 0 0 0 83 0 70
f=554 1,230 246 0 246 0.2 0 0 0 86 0 73
=% 150 45 0 45 0.3 0 0 0 0 99 0
GhH 1,720 330 0 330
1809|L&HL EF 250 25 0 25 0.1 0 0 0 0 51 0
f=554 1,800 360 0 360 0.2 0 0 0 91 0 83
& 2,050 385 0 385
* S FEEL * 16,312 22,892 187 22,705
2103| B E &M A | FIFRL 25 250 0 250 10 0 0 0 0 3,672 0
ZiE 210 2,100 0 2,100 10 0 0 0 4,428 0 2,700
ED 235 2,350 0 2,350
2205282 GH 18 180 0 180
2221|E+ a5 10 100 0 100 10 0 0 0 0 5,616 0
GhH 10 100 0 100
2235 /24| E% 98 980 0 980 10 0 0 0 5,832 0 3,996
(&) 98 980 0 980
2311 [ FrEF B 9 90 0 90 10 0 0 0 6,696 0 5,400
(&) 9 90 0 90
2315|Fk%EL  |E% 1 5 0 5 5 0 0 0 0 4,320 0
(&) 1 5 0 5
2421 | PR &R | F0F3l 14 252 0 252 18 0 0 0 0 4428 0
(&) 103 930 0 930
2616|]SAAL _ [ELWL 6 4 0 4 0.7 0 0 0 0 3,132 0
[ 14 70 0 70 5 0 0 0 7,560 0 7,020
(G 20 74 0 74
2821 |FEER RE 162 81 0 81 0.5 0 0 0 389 0 259
(&) 162 81 0 81
* EEET * 1,205 8,722 0 8,722




